Tran S pO rt How many workplace incidents?

There are 3,800 general workplace injuries in transport
a year, affecting one in every 35 transport workers.
@! One in every 70 workers suffers a serious injury.
)

How many workplace deaths?

5 . Afirchl
What’s causing the injuries? Approximately 11 transport workers die each year
as a result of a workplace injury.

4 At what cost?

On average, $18,000 is paid out for each claim
Which subsector? in the transport sector.
Three in every five transport
claims are from the road transport

_ : subsector.
y Workdays lost?
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. In transport, 61 days are lost for
w'“_Ch ag.e.gr‘ou.p? injuries needing time off work,
One in four injuries in transport compared to 48 days for all {
affect workers aged between industries. feersiard
45 and 54 years. Government




